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MQM arve.i Q scatterplot for two line intersection, HW1 prob. 1

2.2

% lin intsc.m 7-sep-2011 2.15
% make scatterplot of line intersecti.

2.1

degrad=180/pi;
alpha1=84.289406862;
alpha2=78.690067526; 2.05
for i=1:1000

e=random('norm',0,0.1,2,1);

al=alphal + e(1); i
a2=alpha2 + e(2); T
ml=-tan((90~al)/degrad) ; 1.95+

m2=tan((90-a2)/degrad) ;
A=[ml -1;m2 -1];

b=[-3;0]; 1.9¢
x=inv {(A) *b; N
px=x(1) ; L
py=x(2) ; 1.85
plot (px,py,'*');
if (i == 1) 1.8

hold on - ! 1 ) ! ) 1 L

end ) 9.75 9.8 985 99 995 10 10.05 10.1 10.15 10.2

end
axis equal
title('scatterplot for two line intersection, HW1l prob. 1');
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parabola filt - * = observation, o = adjusted observation




